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% Bk k. (S5, AW 208, BIS, CHTH)

1) y=2z+1)(3z-2) (2 y=(@*+1)(2z-1)

3)  y=(22®-1)4a® + 7z + 1) 4)  y=(@+1)(z+2)(z+3)
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% Bk k. (SH24, AW35 208, BM5S, CHRTH)

(1) y=(4z—1)(5z - 3) (2)  y=(322-1)(5x +2)

(3)  y=(4a® —3)(32% — 4z +2) 4)  y=Qz+1)Bz+1)(4r+1)
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R#TAL W52 WOERHK ER 01 HERS

% Bk k. (S5, AW 208, BIS, CHTH)

* BEMORE

» DBy DB E % oy REEET

E2, B fo) 2L E (ZORETINE s DB TH L b b B, ),
SOHMKE f(2), ﬂf), % e LFET.

d
* BOERHOAH
u,v, wBr DK THS L E, { (wo)" = w'o 4w’
(wvw)’ = (w)v+uw(w) = vvw + wv'w + vvw’
(1 y=Qz+1)3z-2) (20 y=(@"+1)(2x-1)
yY=02x+1) Bzx—-2)+2x+1)* (3z—2) Y =@*+1) 2r—1)+ (2> +1) 2z —1)
=20Bz—-2)+(2x+1)-3 =22z —1)+ (22 +1)-2
=6r—44+6x+3 =422 — 27 + 222 + 2
=12z -1 -&X =6z -2z +2 &X
3) y=22*-1)42®>+ Tz +1) 4 y=@+1)(x+2)(z+3)
y =223 - 1) (4a? + Tz + 1)+ (223 — 1) - (42®> + Tz + 1)’ Y=+ (z+2)(z+3)+ (z+1)(z+2)(z+3)

+(x+1)(x+2)(z+3)
=622 (42® + 7o+ 1)+ (223 —1) - 8z +7)
=(@+2)(+3)+(z+1)(z+3)+ (z+1)(z+2)
= 242 + 4223 + 622 + 162* + 142% — 82 — 7
=22+ +6+22+4x+3+22+3x+2
= 40x* 4 5623 + 622 —8x — 7 BFZ
=322+ 12z +11 -FZ

SO BT R D Hs.
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Wk (SH25, ARIB 0B, BRGY, CHTH)
(1) y=(4z—1)(5z - 3) (2)  y=(322-1)(5x +2)
y =[x —-1) (bz —3)+ (4o — 1) * (b — 3)’ y' = (322 — 1) (52 +2) + (322 — 1) - (5bz +2)/
=405z —3)+ (4zr—1)-5 =6x-(5bx+2)+ (322 -1)-5
=202 — 124202 — 5 = 3022 + 12z + 1522 — 5
=40z — 17 &Z 45224+ 120 — 5 BX
(3)  y=(4a® —3)(32% — 4z +2) 4)  y=Q2z+1)Bz+1)(4z +1)
y' = (423 — 3)'+ (32?2 — 4z +2) + (423 — 3) » (322 — 42 + 2)’ Y=02x4+1)Bz+1)dx+1)+ 2x+1)Bz+ 1) (4dx + 1)

+ 2z +1)Bx +1)(4x + 1)

= 1222+ (32% — 42 + 2) + (42 — 3) * (62 — 4)
=23z+1)(4e+1)+32z+1)(dxc+1)+4(22+1)(3z+1)

= 36x* — 483 + 2422 + 24x* — 162° — 18z + 12
= 2422 + 142 + 2+ 2422 + 18z + 3 + 2422 + 20z + 4

= 60x* — 6423 + 2422 — 18z + 12 BFZ
=722%24+52x+9 BZX

SO BT R D Fs.
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